CCSS Mathematics Assessment Task
Who is Right?
	Grade Level:  1


	Mathematics Domain and Cluster:
· Understand place value.
· Extend the counting sequence.

	Common Core standard(s) being assessed (if the task is intended to assess only one part of the standard, underline that part of the standard):
· 1.NBT.2:  Understand that the two digits of a two-digit number represent amounts of tens and ones.
a. 10 can be thought of as a bundle of ten ones --called a “ten.”
b. The numbers from 11-19 are composed of a ten and one, two, three, four, five, six, seven, eight, or nine ones.
c. The numbers 10, 20, 30, 40, 50, 60, 70, 80, 90 refer to one, two, three, four five, six, seven, eight, or nine tens (and 0 ones).

· 1.NBT.1: Count to 120, starting at any number less than 120. In this range, read and write numerals and represent a number of objects with a written numeral.


	Student Materials:
· Assessment sheet 
· Pencil


	Teacher Materials:  


	Directions (for teacher to administer assessment task):
· Distribute copy of assessment to each student.
· Teacher to explain and read the think bubbles to class.
· Students to solve assessment independently.


	Teacher Notes:
· For students who may have difficulty reading, you may want to administer in a small group so that you can reread think bubbles to students.


	Prompt:
· Listen as I explain what you will do.
· Read the statement: Students in the class look at the number 53.
· Look at the three students. Above each student is a think bubble.  Let me read what each student is thinking.  Read along silently as I read aloud.
· Sam thinks 53 is 53 tens.
· Lilly thinks 53 is 5 ones and 3 tens.
· Brad thinks 53 is 5 tens and 3 ones.
· You need to answer the question, “Who is right?”  Write the name of the student who you think is correct here (point to the explanation section) and explain how you know.
· In this box (point to the box), you will need to represent 53 using tens and ones.



	Correct or Model Answer:

· Who is right?  (Brad)
· Examples of explanations: 
· I know Brad has 53 because 53 is 5 tens and 3 ones.  5 tens is fifty and 3 ones makes it 53.
· Brad has 53 because I drew 5 tens and 3 ones and counted 10, 20, 30, 40, 50, 51, 52, 53.

· Representations will vary. 





	Scoring Guide/Rubric (a score should be awarded for each criterion below)

	Criteria (CCSS code)
	0 points
	1 Point
	2 Point

	Represents the amount of tens and ones in a two-digit number.
(1.NBT.2, 1.NBT.1)
	Unable to represent the amount of tens and ones in a two-digit number.
	Has some errors representing the amount of tens and ones in a two-digit number.
	Correctly represents the amount of tens and ones in a two-digit number.

	Communicates understanding of what the two digits of a two-digit number represents. (1.NBT.2)
	[bookmark: _GoBack]Has no or limited understanding of problem.
	Has partial understanding of problem.
	Has complete understanding of problem.

























Who is Right? 

Name:__________________________________                   Date:_______________

Students in a class look at the number 53.
 (
I think 53 is 
5 ones and 3 tens.
) (
I think 53 is 
53 tens.
) (
I think 53 is 
5 tens and 3 ones.
)





                                           
          Sam                                              Lilly                                            Brad

Who is right?  Explain why:________________________________________

_______________________________________________________________

_______________________________________________________________

_______________________________________________________________

Represent the number 53 using tens and ones.
Show your representation in the box below:
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